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ENHAHERE 34 47 -13 -27.7
SHEZRE 53 85 -32 -37.6
SMEERE 76 75 1 1.3
INEERE 15 18 -3 -16.7
SRt ERE 292 256 36 14.1
SNEERE 342 387 -45 -11.6 1981
IRHEZERE 90 112 -22 -19.6
SIAERE 52 56 -4 -7.1
ABERE 185 212 -27 -12.7
EREmE 26 33 -7 -21.2
—EERE 50 55 -5 -9.1
BEEFERE 53 64 -11 -17.2
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ENHAHhERE 0 0 0 0
SHEERE 1 0 1 -
SNEZERE 0 2 -2 -100
INGEERE 1 0 1 -
SmitERE 2 2 0 0
SREERE 1 0 1 - 10
IRHEZERE 3 2 1 50
SMAERE 0 1 -1 -100
ABERE 1 3 -2 -66.7
BLEERE 0 1 -1 -100
—EERE 0 2 -2 -100
BEEFERE 0 1 -1 -100
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ENAHhERE 52 58 -6 -10.3
SHTERE 87 118 -31 -26.3
ENEERE 88 88 0 0
INGTRE 16 20 -4 -20
SmitERE 339 312 27 8.7
ENEERE 414 484 -70 -145 1558
IRHERE 94 131 -37 -28.2
SRAERE 67 64 3 4.7
ABEERE 222 255 -33 -12.9
ELERE 33 40 -7 -175
—2ERE 57 66 -9 -13.6
BEFTERE 71 83 -12 -145




